NDJDF =5 - 21848 R

O gk
BEEH \ #E 20 | 25| 32 40| 50 | 63 | 80 | 100
1EENELZC EERREL
AR pon
{EREHEE kgficm?(kpa) |15~ 7(150 ~ 700)‘ 1~ 7(100 ~ 700)
BAFERESN  kgficm?(kpa) 9(900)
mfig M5 X 0.8P ‘ PT 18 PT 14 PT 38
EFREHE @ 5 <60
R ESE B SES . (BTHRRS/BRMMEE — S )
O FHEBEITRER
WaKE TREERY (R A) oty
NDJDF-{ ] LA 20 | 25 [ 32 | 40 [ 50 [ 63 [ 80 [100 | 20 [ 25 | 32 [ 40 | 50 [ 63 [ 80 | 100
ZEREL E—ERTIZEE 10~20~30~40-50-60~75~85~100 10~20~30-40-50-65~75~90
BRITEESEE 10~20~30~40-~50~60~75~85 100 10~20~30-40-~50-65~75~90

WEE 1L IFRETRAITRG

EES

= A
B/

HEHAE -

2F BT+ E_BRITRAMITIE - MITIRANS TR -
© THifgR : FBITRETEEBB150mm ( 920 ~ @32 T15E8E@
o ft B B : #BITRTB#81E140mm ( F20 ~ F32 T15#BB

90mm ) °
O FTETEIF 5%
CwnoioFk ) C 32 H)x(C 20 H+(C 0 H-C B ) -—
IEGTEE shm TR | | MEERE |

© NDJDF : S EARH

l

20 — @20 mm
25 - @25 mm
32 - @32 mm
40 — @40 mm
50 — @50 mm
63 — @63 mm
80 — &80 mm
100 — @100 mm

l |
[ #r1 | [ a2 |
{ {

l

172 1 E—BRITRE 1712 2 EERATHE

AR RN T
B : #insh

NiEB

1-2.37

© IRAERLNIF

C9% (NDCS-30E)
a2 (NDCS-9D)

© SMFHEAM’ B 7

FHRdISE

| emseas

FImHHE Sy

#
8
2
8
=
B
i

FRARE | EREES | e

sH |

2=

| e | s |



NDJDF =5 - i 8&R R

C INFE R R~

G
——
/
Yan .
8| g -
Ko {
w
i M

A+1T121+181772

NDJDF I x [ ST

B CH @7 C+#7721
F G
N1 N1
3 gt \ { \ @
1 H »;-»d) N_ 2-0
w i
na |
L KE—BITIE + BRI AT
P RTRRAGA TR
M P THEE : @ITRTGHE 150mm (220 ~ @32 154838 100mm ) -

> HiRE

D {BITRETS5#BIE 140mm ( @20 ~ @32 15#858 90mm ) o

©C NDJDF @20 ~ @25

C NDJDF @32 ~ @100

=l o

OB RBERMEITIEFESIR P.3-2.1 ) FFREITIRRBETRA - FEREAMEBAE

T Lok A%ﬁﬁ'i fﬁmﬁc B1 B2 D E F G H K1 K2 L M N1
(mm)
20 445 | 195 | 645 | 295 | 55 | 195 - 18 4 1.5 13 M4x0.7Px10 F | M6x1P 13 3 7.5
25 484 | 21.2 | 684 | 31.2 6 22 = 201 | 4.1 1.9 15 M5x0.8Px12 E | M8x1.25P | 17 3 8
32 55 24 75 34 7 24 50 | 207 | 3.7 3.3 16 M6x1.0Px14 & | M10x1.25P| 22 3 9
40 60 | 26,5 | 80 | 36.5 7 34 | 585 | 30.7 | 3.7 3.3 25 M8x1.25Px14 E | M14x1.5P | 28 3 10
50 66.2 | 28.6 | 86.2 | 38.6 9 36 | 715 | 32.1 | 541 3.9 25 M10x1.5Px15 & | M18x1.5P | 38 3 | 108
63 735 | 325 | 935 | 425 | 85 | 355 | 84.5 | 316 | 4.6 3.9 25 M10x1.5Px15 & | M18x1.5P | 40 3 11
80 933 | 41.3 | 113.3| 51.3 | 10.7 | 43.7 | 104 | 38.7 | 57 5 30 M14x1.5Px20 # | M22x1.5P | 45 4 13
100 933 | 453 | 119.3 | 553 | 87 | 41.7 | 124 | 387 | 57 3 30 M16x2.0Px20 E | M22x1.5P | 45 4 15

SR =

ETfE o Pa (EIEFL) P1 P2 R S T1 \") w X Y
(mm)
20 M5X0.8P I M5x0.8Px6 R HEFL 97x5 S 1 5 - 34 24 8 6 - —
25 M5X0.8P INEF M6x1Px8 R HEFL 28x6 S 14 6 - 40 28 10 8 — —
32 PT 1/8 N M6x1Px8 R ; 117l 98x6 S 14 6 6 44 34 12 10 15 13.6
40 PT 1/8 I M8x1.25Px10 i ; #EFL @10x8 S 18 8 6 52 40 16 14 15 13.6
50 PT 1/4 NG M8x1.25Px10 i ; 1EFlL B11x8.5 3 18.5 8.5 9 62 48 20 17 21.6 19
63 PT 1/4 I M8x1.25Px10 & ; ¥l @11x8.5 S 18.5 8.5 9.5 75 60 20 17 32 20.5
80 PT 3/8 NG M12x1.75Px12 & ; L ©14x10.5 R 22,5 10.5 10 94 74 25 22 38.8 26.8
100 PT 3/8 I M14x2Px15 PR AEFL 218.5x13 R 28 13 10 114 90 25 22 37.3 26.3

—
1
N
w
©



